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PART – A

Answer all questions. All questions carry equal marks.

 1. Identify the correct statement/s related to Durbin Watson statistic. 

 A) The Durbin Watson statistic is a test for autocorrelation in the residuals from 
a statistical regression analysis.

 B) The Durbin Watson statistic will always have a value between 1 and 4.

 C) A value of 1 means that there is no autocorrelation detected in the sample.

 D) All of the above  

 A) Taylor’s theorem   B) Central limit

 C) Gauss Markov theorem D) Kruskal’s theorem

 A) Multivariate normality B) No or little multicollinearity

 C) No autocorrelation   D) All of the above

 4. The term ‘Econometrics’ was coined by

 A) Ragnar Frisch   B) Jan Tinbergen

 C) Karl Pearson   D) David Gilberman

P.T.O.
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 A) d statistic   B) p value 

 6. Heteroscedasticity is related to  

 A) Chow test   B) Breusch-Godfrey test

 C) Goldfeld-Quandt test D) Jarque-Bera test

 8. The term ‘u’ in an econometric model is usually referred to as

 A) Parameter   B) Disturbance term

 C)  Random variable   D) Dependent variable (8×½=4)

PART – B

Answer any eight questions. Each question carries 2 marks. No answer should 
exceed one page.

 9. Differentiate between slope and intercept.

 14. Write down the general form of a linear regression model and interpret.

 18. Prepare a note on the scope of Econometrics.

(8×2=16)
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PART – C

Answer any four questions. Each question carries 5 marks. No answer should 
exceed 2.5 pages. 

Point out the methods of its detection.

 22. Describe the functional forms of regression models.

(4×5=20)

PART – D

Answer any two questions. Each question carries 10 marks. No answer should 
exceed 6 pages. 

 26. Discuss the meaning and causes of autocorrelation. Explain Durbin Watson 
statistic as a test of autocorrelation.

 

(2×10=20)

_________________________


